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Jaisalmer was established in - o
(A} 10% century (B) 11th century
(C) 12th century {0} 13t century

SITSTHR @ RITOT 88 ol —

(&) 10} gramedy § 0 (B) 119 wraTey |

(€) 1247 wrarely ¥ (D) 1397 erae) |
Which Sufi Saint received the title of
‘Sultan-i-Tarigin'?

{A) Khwaja Moinuddin Chishti

(B} Sheikh Hamiduddin Nagori

(€} Kaji Hamiduddin Nagori

(D) Sheikh Burhan Chishti

r\

e ot 9a @ xjc«’w—{f—m BT 1 T
T 2

o o

(&) =TS Y e s
(B) ¥rg ?ﬁ@z AR %’Eﬁ
(C) @Ton BfAge TR

(D) o grer e

"Which tree/plant - is used more for

‘beverages’ in Bhil tribe?
(&) Mango (B) Grapes
(C) Mahua (D) Khejadi

fror Sy § yg uerRl g B9 g /den
&7 arfdres SuanT fFar siar 87

(&) ar| (B) 3R
(C) wgar (D) =y

Who is the present Chairperson of [nsurance
Regulatory and Development Authority of
india? :

{A) Shiva Subramanian Raman

(B Ajay Tyagi

(C) Nand Kishor Singh

{D} Subhash Chandra Khuntia

anely G faframs ok fwm witewr @
AT 3T B E7

(A) f2ra gaalrA v

(B} arorg &l - '

(€} 9% feor g

(D) gu =g e

Who among the following is credited to be
first to bring camels to Marwar?

(A) Gogaji (B) Tejaji

{C} Devnarayan ji (D) Pabuji

e o 9 Y aRreTs. ¥ Tdue e o @6l
%\Rf 3«?1; Sk %\?

| (A) TS (B) TTroll
(C) TE=TRrgor i (D) yrgsiy

10,

T r e Ay TP vy i v
IR ITCIEC TS ﬁ? ?r\k P WX a% d HINT

it wfeer & F fawga &7

(A) ey

(B) o1 BTy
(C) w1 Biead weEs

(D) wure WCQJM e /«2%,3

b e\remgm# nt Company
s oping which one of
projects?

11 {B) Bhadl
v (8 bhadia

AL HOES

<D

Rajasthan Sol ar |

meed (REPDC

he following sola

{ﬁ%» Bhadla « Phase
P

{C} Bhadla - Phas

S ) N -
ToweE ER Ut Rery sy s
ferirRes *i W wE 9% ue uRESE
Rafrg o v 27 ‘

{A) o — Q%mz (B) wgar ~ vt
(C) weer — oy | (D) e — IV

The committee constituted for merger of
Matsya Union in Greater Rajasthan was -
(&) Hiralal Swam Committee
3 Rao Committee
h Melita Committee
o Dev Committee

TRE IV B R ?\‘”TFT Gl
T%Wf W?H a% n‘é wfafy off —

(A) ERTere TN atEf

(Eﬁ%tﬁ FRARM 4+

(C) 21 wred fHs 3 &I IR

(D} S, vimwE g9 w9l

The watershed of which district of Rajasthan
isincluded in the ‘Neeranchal Project”?

(&) Jjodhpur {8} Thalawar

(C} Jaipur (B Udaipur

rorer @ o forel o1 dievere / STeuEe 6
Hetae aRAET F U JET 87

(A) YR (B) gremars
(€} SR (D) JEagR

Which of the following Glacier is located in
the Nubra valley?
{A) Batura {

(C} Baltoro m

frafafag & 9 @ Reee g9 w4
araferd &7

(4) qre3 (B) 2R
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11.

12.

13.

14.

18.

~the Year”,

First scientific classification of Rajasthani

painting was presented by -

(A} Dr. Faiyaz Ali (B} W. G. Archer

{C} Anand Kumar (D) Erik Dickinson
Swami

ROl Rreer w1 wa ugar a3t
ofepeoT fhaT weqa fpar?

(A) S By e (B) Swy, oft. e

(C) T gaR WAl (D) YRe e
Who has been awarded “Water Steward of
2021  award for water

conservation?
(A) Vivek Bansal
(€) Vinod Bhardwaj

{B) Ashok Gupta
(D} Ajitabh Sharma

w*\q‘wwa\s%@a@“m 17 W?ﬁ@%@
e & TR RN B Ry my 37

(A) 139 §w7er (B) srerien T

(©) forig wRearst (D) siforamy ot

In 2020-21, the sectoral contribution of the
industries sector in the total Gross State
Value Added {GSVA) ef Rajasthan, at current
prices is -
{A) 18.6%
{C) 24.8%-

8} 21.7%
(D) 26.4%

2020-21 ¥, ISRRIF & §o GEHA I Heq

T (GSVA) ¥ TafRia @l oy SET 8 @

FE AT B —

(A) 18.6% (B) 21.7%

(C) 24.8% (0} 26.4%

Mani Kaul's film ‘Duvidha’ is based on the

work of -

(A} Kanhaiya Lal
Sethia

(€} Vijaydan Detha

(B} Vadvendra
Sharma
() Nathmal Joshi

Hfor B @ frer gfen fae! sfa w

arenia &7

(A) =g ol afdar (B) uredsg vl

(C) fasreT e (D) Heryer Sirel

Who presided the 7% All India States’
Peoples’ conference held at Udaipur?

(A) K. M. Munshi (B} ]. B. Kriplani

(€) Jawahar Lal Nehru (B) Mahatma Gandhi

SEUgR W e oiee W geh oy
e URYE ® WTd ST @) e @
off

@3 g (B S 6 suer
(C) Srarevere AEw 9 (D) wEwyr e 9
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8.

Q.
- by -

Rajasthan Eco-Tourism Policy was released

in-
{A} August 2020 (B} December 2020
{C) April 2021 {0} july 2021

(A epre 20209 (B) fRwew 20209
{C) aniler 2021 # (D) e 2021 %
Bhatner fort was built by -

{A} Surat Singh {B} Bhupat

(€} Bar Singh {0} Jaisingh 11

R e T gear ur?

(&) g Rie (B} g \

©) 3z Rig 2} G’I*‘%%Eﬂ

Phuldol fair of Shahpura is held in the month
of - _ :

(A} Chaitra (B} Vaisakha

{2 Pausha

SIEYRT 1 Hersiel Jal e 78 F amaifng
e %? ’

(A) =3 (B) dumrg
’ i'@} Emﬁfﬁ @) iy

(A} Nar;;aﬁ Nama - (B) Girdhar Asiya
(€} Dalpat Vijay (D} Jodhraj

AT A B TEE B —
(A) =Rufy =Tes (B) firerr amRyar
(C) wege oo (D} SIRRTST
In 2021, the Thomas Cup Trophy was lifted
{A} China {8} Indonesia

{€) lapan {8} South Korea

a
és&; A (8) ssIRmn
(C) S () =T i
Which of the following is called the

‘Khajuraho of Rajasthan’?

(A) Sas-Bahu temple, Nagada

(B} Temple of Kiradu, Barmer

{€) Mahanaleshwar temple, Menal
D) Eklingji temnle, Udaipur

e # 5 oRAT B @oRrE HE o
g7

(&) wr9—ag HiEw, ApTeT i

(B) {ovrg &1 #iey, gren i

(C) AETeIveR HidR, S

P o Ty

(D} gaTer Tl gy, SEayR
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Which steel pl vas
steel plant was set up before

2. TH wrnrldie ormatan : )
Independence of India? e’i&ieg:a: . 55’; eatest earthquake beltis-- 0
(A Dhita W Uircurm Atlantic Belt 30, 9alim Saoo o ‘
\A) Bhilai -~ {B} Bokaro (B} : Salim Sagar and Suraj Kund water ponds are #4. Which one of th
{€) Rourkela (D) Jamshedp (© © located at - Which one of the following (Research
. ! nsneqgpur [t . Institute-Location) is not corr
I . (A} Baia Qd%m Fort. Alwar i j;aztu e-Location] is not correctly matched?
~ L hadf ¢4 (3 {ﬁ%} N N
PERY A ¥ . £ . ¥ g - . 3 S ) .
e e we R T S e . | (B} She f”tﬁi h Fort, Baran e?i{:}z}a} Research Cenire on Rapeseed
EHERE G Tx‘a‘?? fawe # W%?‘@“ qeat o ody B h and Mustard ~ Sewar
; c k (AY ol ares
(A) e (B} o=y j‘: 3’% e A {B) Central Arid Zone Research Institute -
C) v (B :@W T , fodhr
{ Hm?‘éﬂ ‘ (D) & < (€ J:%*’%*% TEET . , P ) | . jodhpur
» In Rajasthan, inserting a gold mﬁ in th (D) 7y G e | 5 _ R 9 A TS T ST, (©) National - Reseatch Centre for Arid
. P & S icdiy 1 sL e 5 «7?1 REIRID . B T . ) )
middle of teeth by a woman is called T TRgET] . Horticulture ~ Beechhwal
: cman is called - Rajasthan contribut , o i (AY groT Torer, areray A (B Mt
{A} Bhooali BY s . nites apout ... percent of ' ST (D) National Research Centre on Seed Spice
0g (B} To total crude oil production in India. (B) 9RTe frem, AT - arc re on Seed Spices
(€} Choomp (D) Peet ' {A) 181019 TRE p A - Tijara
’ o bepag ?aﬁifa o P 5 ’i‘ 4 3‘“} to 1{} {{,} i d‘*xw Q{\:?’ RS IRV EY ;}f
: (€} 220 23 D) 27t0 28 _ o g, g o ‘
T T T e i : A ( SR e Serew | = H oo = i . :
TR :é' ﬁ}(fQﬁ ‘F{%ﬁ? gm ’@{R—‘ﬁ' _C% &5::{ T\-‘{ q_ﬂ_a\, gperem »\5} “;:5*‘_-‘ N . : 34 JNREARAINC Y 1, sip] A 'ﬁ{ o #H ﬁ T i\ﬂg\ﬂb”ri T —
“‘ﬁ—c;{ - k ] 3wy wrmy fmmer ot v 31 Py o 13 ; s . .
BT DI TSI PI BT AT ¥ " RIS E;} @;’:'? T (s Sige) ¢ gemEd # What is called the Mduw&?’ in the customs of srafeertay) gAfer el 27 :
’ ‘ o & = g ST o S\ w\" iasth ? o o : b
(&) \rrett . (B) =1 o RO ;ésg;fi“”“i uiererT 2 f;c;}%maﬁ" (&) Id el T B - WOR
©) =y (D) St U - N »’ J 1516 j 4 Dowry (B) B oSy a5 e e
N L) UTOE UST €} 6:2 H 23 D)y 27928 () Death-Supper R & SR TR — Gl TR
‘M o’ valeans il L 20, Wiate £ ‘ ’ -Suppe ) e , .
(Zimfﬁt Popa’ volcano is located in - 9 Mém‘ the following - (C) Home entra © I Y & SENID ATET D —
{Ci taly (B) Japan {a) S%i«i i (D) Dinner on f? occasion of marriage T
&t Myanmar 1) PO (8) Lnarandasisect e et 1ot marnage o owrsie O ww . ; 5 T
(D) Indonesia (b} Alkhiya Sect : L : 5 (D) X AIST HRIET SRR B - RIS
: (el Gue o ‘ TR & § - ——— 5. Mano )
wreE TOT ST ) Rer & ;i; ilsihde Sect é\\ & fe—TRarst & AR e gt e Mangrove forest are found in the deltaic part
[ I =1 Qaprs i RS ~Faotiieh ’
(A} T ? ﬁ {g} N 143 %ﬁ’graﬁﬁ’ i;% ot} ) (A) e of which of the {“f]hgﬁjying rivers?
e R——— T A ., Maincentre/ Headquarters | | ) e () Ganges
(©) =R # ‘ (D) goePfnT 9 b %@d%}g}m—‘ : (B) Teg—wH (i) Godavari %
Gavei is a foll : K {ii} Bikane , oy o i) Godavari i
2;:?; lis a folk drama, based on the story of - (i) Delhi (C) e-ugw (iif} Krishna
Heer-Ranih: - : . o Y Bere w2 s — o
¢ r-Ranjha [{iv) Dantars {Bhilwara) ) 9978 & 3199 O¥ Uhie ¥R {ﬁ: Only (1) (8) (M) and (i
(B} Shiv-Bhasmasur -« Lode - : : f 32. ‘Saheliyon ki Bari’ was built by {(C) (i) and (i) {8 ' i
" ;- . e : n i was buil 3y - et ] 1 11 Y {i , (i3 and (6
{C} Krishna-Kans ~ ég; a-(i}, b-(ii}, c-(iii}, d-(iv) : (A} Sangram hgn 11 B ud (), (it} and (iii)
(D) Pratap-Akbar a-{iil), b-(if), c-{iv], d-(1) ( ) o : _
Pratap-Akbar ,b-(i), e-(1v), d-(3) (© 5 . S o .
i k ¥ ({}"3 ’!«{1} b {;”} I ,5 gg } !&gﬁi Sx r:,;A {J} ¥ra ﬁiﬁﬁﬂhﬁ H ? }a?«“’f Tﬁ-’i’{ﬂ @ @E;agg R TRT ;:\s"
\ ’ ! e e .
‘ : , ® - ﬁ Hrg g9 e S @2
f»z"‘ft U U *?’”’}’C% é‘ \—7{\& &ﬁ??ﬂ%ﬁ ;i . a E a- {WE; £ {M, { } { . : ‘g’io m{»{; {}’”? ﬁ‘%i'«é{ ?}% = igu‘fé?’(;; ‘ . - NV é
(8) ER-<T3TT ) o o | (&) T Rie I oy (iy =T
RIS B PA T Ffera #ifg | | A) i ¥iE 1 (8) weg g 1 (ify wireTerd
(B) Rrg—wamgr @ oy 0 ‘ : (€} opra e 1 (DY oe (i i
{C) Py @] (a\s BB, UATam el (hi) P
} DT DI AT W ' @3{ - Wandur National Paﬁ{ {Ma (&) Saer (i) s '
{ ot } o L : Ay e (4 i) @I (i
(D HATI—3Th ey &y e v . (c) g ;Ji ine National Park] is located in - ; ©) " ”‘Tgﬁ . ; (i) @ (1)
0 ~ lama H 7.3 s il ey
Which of the following tribes lives in the Bay (dy =mor : (  Andaman and NE cobar Islands a6 @ 0@, [ e i)
i . o ARESNAGWeR N i 7 % Ps o E . 5w 7 4
of Bengal Islands of India? Eﬁ”f:@m {Tﬁ"@} {@i Lakshadweep How ﬁfzany cantonments of British soldiers
(%) Khasa (B) jarawa i) o ; o f‘amd Nadu were there in Rajasthan at the time of the
(©) Kuki () Juang (i) drrr : : (L) Puducherry beginning of the revolt of 18577
A 8 (i) fazen ' : ) (&) 3 B
%‘L‘F} '3# r\ (i) "‘!yr}':r (33'\* . . q”a‘J I T T TR qﬁﬁj\? T B iy ~ { ) 4
i B I v B IS BT (iv) =iwsr (vreraren) ' ) ¥ e s HT s R €5 D) s
i e 3] ey
EEI ?5 gt 5 Ty 87 %‘;“ﬁ § . . ;ﬁ} ) SFERe ¥ - v
A} = ; a-(i}, b-(ii}, c-(iii}, d-(iv ' e SR Feler 5y wgg ¥ X
i::;; Wz (B) wiRrer/say (B} a-(iii), b {3} c{{ii} é»{}g' ) (8) Ty & s 1857 1 #ifd ¥R BN @ g o |
€} 5 o ! »d-(1 s - U A .
= _ (D) et §€3} a-(1), b-(iii}, c-(iv), d-(if) ; (€) Tiwerrg o ' :Aj Tt 1 R S e
L) &"{lV}» b- ii} glﬂ d- f}ﬁ} (o} E@SNJ? 2’3{ i@; 3 (B 4
= { o .
106-C W 5 ®e
Page 4 of 16. : _
106-C © “
Page 5 of 18 .



37.

38.

44,

The founder of Jain Vardhman Vidyalaya’

“established in 1907 AD was -

(A} Hiralal Shastri {B} Radha Krishna

- Bohra
<) Arjun Lal Sethi (P Manikya Lal
Verma

1007 5 ¥ wrfdg 99 wgam ferem @
GRITE 9 —

8 Ereme T (8) RG] GIERT

(C) el e @7 (D) wfreena @

“Veer Bharat Sabha’ was established by -

(&) Arjunial Sethi {8} Vijay Singh Pathik
{C) Kesari Singh o S%&rmai Gopa

%
Barhath

R ARG T BT RG] a‘% o —

(A) o5 o wdl (B) fasra Rig e

©) Ha g anes (D) grEe \3

Arrange the following mountain peaks of

Rajasthan in the increasing order of height -

Gurushikhar, Achalgarh,  Kumbhalgarh,

Taragarh

(A} Taragarh, Achalg
Guru Shikhar

{B) Kumbhalgarh, Achalgarh, Taragarh,
Guru Shikhar '

{C} Taragarh, Kumbhalgarh, Achalgarh,
Guru Shikhar

(D} Kumbhalgarh, Taragarh, Achalgarh,
Guru Shikhar

arh, Kumbhalgarh,

TR W1 e udy mifedl o S 9 99
wa H wafe iy —

THRRIY, TS, FHATE, TRTIG
(A) TRTIG, SIS, HHTT, Lb@"ii&k
(B) gTorTe, srgete, dRITE, O

() I, m-‘ﬁ@" , TS, oI
(D) eTerTTe, AN qé, ST, OIeRER
What rank did Udaipur from Rajasthan getin
the ranking of 100 cities under Smart City

Mission? . .
(A) 22nd (B) 10t .
(C) 5 (D) 28

e R e o efatda west o Y d
RISTERIN ¥ SEUGR & B A1 ¥ Fel?

(A) 2241 (B} 1097

(C) 591 (D) 2847

E-
o

42,

43.

P . {
E \

- Vinit said; “This girl is the wife of the
grandson of my mother.” Who is Vinit to the
girl?

(A} Father

{€) Brother-in-law

ol 3 ww, T TSH ) Aol T @ U B
aely 21 e @ o oed ¥ e Rear 27

(B) Gra nd father
(D} Father-in-law

(A) foar (B) T1ey
(©) TaR (D) =R

If (-) means (), (+) means {x), (+) means (-)
and (X} means (+), then which of the
following equation is correct?

(A) 43x7+5+4~8=25

B) 36-12x6+3+4=60

(€} 52+4+5%x8-2=36

D) 30x4-12+5+3=420

afe () %7 7FEa (+), (+) BT 7E (), (+)
Tererd () AR (x) BT Haerd (+) 8, o fi‘m
W PITET FHGIO FE 87

(A) 43x7+5+4-8=125
B)36-12x6+3+4=60
(©)52+4+5%x8-2=36
B)30%x4-12+5+3=420

In the following figure, the difference
between rectangles (except squares) and
triangles is - -

Bl
H

(A) 0 ®) 1
©2 () 4

et form 4 sl (@oif @ rffRem) Td B

& Wy afav ¥ —

N
(A). 0 B 1
Dy 2 (D) 4

108-C © Pa 2ge 6 of 16

44,

48,

Find the missing number -
3 7 e
5 1151 2 1111000 8 g 17 i
4 & 7
(A 27 {8) 131
€ 231 (L) 245
T AT S B —
3 7 {1
6 1152 11 1100] 8 ERR I I
4 6 7
(A} 27 {8) 131
(€) 231 {0} 345
if it was Sunday on 18% December 1982,
what was the day on 2319 December 19847
(A} Monday {B) ’E‘zzegégy
(€} Wednesday (I} Friday

If¢ 18 fRwm=R 1982 &) wfgar o, 23 By

1984 7 R TR o7 .

(&) T {8} e
(C) ggar ' {0} g

A-cube is coloured red on one face, green on

the @gz‘}awie face, yeliow on another face and

blusonaf 1tto the vellow face. The
other two f sncoloured. It is then
cutinto 125 sy pes of equal size

Sy g §
uncoloured on all the

faces?
(A} 64 (B} 48
(€) 36 o 27

T 9 B v qEE B A O @, e R
FAAE ®T B T W, I UG UEg @Y Oe 9
T OrE I B ORI UEE T A O 9wy

ST § | 1 311 BT WeEl By N e o B

TUHT 125 T T: THE STER o wie gl ¥

48,

In a'certain code language, ‘GREEN’ is coded
as 7%5‘" and YELLOW is coded as 753365,
then the codg for ‘WHITE' is
(A} 58935
(B) 58925

688935
{1 689205

[®x}

B Q_Q* Chr‘ T ;%f ‘GREEN &7 © CT 79555 oy
LLOW’ T @¢ 753365 &, o ‘WHITE' &
s ‘

89

ey
9‘5{% rrl
[
¥

e,
I
St
LIt L1

s,

o
R0
N
921

f:}
(C) 688935
(0} 689205

ey

€3

in a queue of students, Rajesh is fifth from the
ieft and Manish is sixth from the right. When
they interchange their places among
themselves, Rajesh becomes thirteenth from
the left. Then, position of Manish from the
right is -

{A) 5ib

B) 14

{CY 15t

Y

s,

Gl

) 16t

v femiEl @ e ¥, ¥ I R @
urEeT 9T HAIY g IR W el B e U
T ST I geed § o) o 9idt aiR
¥ TERGT & G R | ol 7Y @ TRy o 9
fRorfy & - |

{A) 5o}

(B) 1447

gieT ST 6
e oo o of weE 99 7 {€) 1547 .
- %; % o :
{A) 64 (8} 48 {0 169
) 36 {2 27 '
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Study the following figure ca;efui‘iy and
i

answer the queg

gii}en; Rectangle represents

< ~Civele represent Geologists.

Triangle repr Square
4

represents Engl

The Scientist whrare Geologists also, butnot
Engineer or i‘\ﬁag;gmat%ﬂi&m -

A7

8) 17

€} 14

o

fy=ifare frs B1 SaTIE® UgHR YT § TR

wy agter 1 1 a;ﬁ:; Senfres! ‘c‘ﬁ aoreT §

P
ois

-

forersr WA B -
ay 7

8} 17

€} 14

)9

50. Here, a statement is followed by three
assumptions numbered 1, I and Il You have
to consider the statement and the following
assumptions, - decide  which  of the
aa%mpm@m@‘ :pmom isfare implicit in
the statement and chogse your answer
aa:{:@mmgzy
Statement : The book on Vedic maths is so

prepared that even a layman
can study it, in the absence of a
teacher.

Assumption: 1 Alayman wishes to study

Vedic maths without a

teacher.

I Ateachermay notalways be
available 1o teach Vedic
maths,

111 A layman generally finds it
difficult to learn Vedic maths
n ifs own.

(&) Only 1 and 1] assurnptions are implicit in
the statement. ;

{B) Only 1l and [l assumptions are implicitin
the statement. '

{C) Only I and 1] assumptions are implicit in
the statement.

(D} ALl assumptions are implicit in the
statement,

7 UEETE 9 L;gga;zx AR

.

N A wE ¥ omuer wud g ueEEd)

ﬁc
4
-
g
"y h‘;\g

LR RGN S Gl !
oderRons i e H v gy MO eRA E
% BRI QU / GAUROTG B ¥ AR
S mrorr ey o

S o S @ ST I OER YT

e« 9fae TR %) g 3H THRK 9
wd & 5 ust oo & U RN i
A FeaHE P ﬁ%‘sﬂ? fy § T
I 8 HepT 23
TEYROTY ¢ | U RN e g
ST % oo 0 gw afew
o

‘%??va"cﬂ%
il 9% ?ﬂ%!f*w S HE eI ek 21"'

o & 5 waig Afs Tl @
, AT He ¥ ;
(A) Faer EuRENY 1 Ud 1 E Hu A wEiE
&
(B) orger geRReng 1w 1Y B e A gAlEa
(C) et TEeRTY 1Ud 11 € e wERd

[

(D) el ydervend wer W wEiRd T

ot

%mm fora j;zm ney 0% %@
the slow train is 10 Km;h
the fast train, then what i

c‘m R T
:s‘:f{ ”’W{ W T{

e curve v = 2% - ¥2 and the

=
>l
e

[

H

TP y= 2% -K

&5 HT &?‘m % -

e

oo, then ¥ =

v -y
he annual simple interest on some money is

e
©
Wﬂ

principle. If the numbers

esenting rate of interest and the
number of years are equal, then the rate of
interestis - ‘
204 4 =3
{ﬁé D‘ mf’ﬂdﬂ \gl 1 gmv/{} W“ﬁiﬂugi
§ PR m 1
(< fm;;‘ annual (B 1 ;% annual

el eIl W afte wre @ w9
ARIROT AR, e BT 352 71 afy @ o
For g9l ¥ THT B UG \m HYH el A
EREEat) o &R P e B —

(A) 8% amitep B 11 Loy oififss
=% 1
() 12 =% A ) 12> 9 mfiies

@
bt

58. If the length of a rectangle is increased | by
20% and the breadth is dec e
then the Def'“{zm’ﬁ-m increase or decreases in

the area of the rectangle is

{A) 49 increase

(B} 4% decrease

{C} Neither increase nor decrease
() Cannot be determined

T AT B cwé ¥ 20% gzqﬂ oo AR AT
F 20% S BT W ARG D FHA H BH
gl gfEg or 9 BT ulded B -

(Cy = gfig 3R = & B9

(@) =7 *ﬁ’** T {HA

Page 8 of 16 . .
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)

Pl

p

TR T 1% Y = PP
Htann (X +1iy] =p +ig, then—=

{#A) sinh 2y {8} sinh 2x
gin 2x "f;nm}-f

{2y sinZy {3y sinZx
sinh Zx sinh ?ym

- T - . .
IfE tanh (x+iy)=p+ ig, ar F=

q
(A} sinh 2y (B sinh 2x
sin 2x sin 2y
{C} sinZy {1} sinZx
sinh 2x sinh 2y

6 U genr 3 UREEl BT 9o 847 2| ol wm
U @ el @l -, ue iRiel & 5o @
IR B, G 4 U wer S ORTE e ger gow

whom the Sarpanch gives his/her

gnation ietter?

resig

12

(%} Development officer of Panchayat Samiti

IRYE AT TGS fweT digar 87
(A} QUURYT
() e uRye & W23 &7

o
<

{2y T 9T o Rery ety o

a2

The cost of 6 pens and 3 pencils is T 84. If

 in- which place of Rajasthan, there isn’t

Patwari Training school?
(A} Tonk

(8} Kota

{€) Alwar

(D} Chittorgarh

ISR H 1T T7E, gears) o wael 7e)
27

(&) giw

(8) TreT

(C) arerer

) Rreisre

- Match List - I with List - Il-and identify the

correct answer from the code given below -
List -1 ‘ _

{2} Maharana Pratap Armed Battalion

{b) Sardar Patel Police University

{¢) First All Women Staff Police Station-

{d} Mewar Bheel Core
List -1

{i} Udaipur

(ii) Jaipur

(i1} Jodhpur

{(iv) Pratapgarh

Code -

(A) a-(iii), b-(ii), c-(iv), d-(i)

(B} a-(1), b-(iii), c-(iv), d-(ii)

(€} a-(iv), b-(ii), c-(if), d-(i)

(B) a-(i1), b-(ii1), c-(iv), d-(i)

A — 1 7 3T — 119 fBam S ok 9"

ey T T # | wE SR BT wyE B ~
1 |
(a). WERIOT Uamg a7es geiforaT
(b) WWER ved gfew fovafene
(c) g mfewr HH=RY gferd o
(d) #grs Ae R
T - 1

(A) a-(iif), b-(if), c-(iv), d-(i)
(B) a-(i), b-(iil), c-(iv), d-(if)
(€} a-(iv), b-(iii), c-(ii), d-(i)
(D) a-(if), b-(iif), c-(iv), d-(i)

64. When was the State Secretariat established

in Rajasthan?
(A) April 1949 ) (B) April 1950
(C) November 1949 (D) November 1950

ST & S ARaTe @ T Fa gé?
(A) ardier 1949 (B) ardie 1950
(C) FgwR 1949 (D) R 1950

- What was the tenure of last President Rule in

Rajasthan?

(A) 15% Dec,, 1992 - 03rd Dec, 1993
{B) 1stDec.,, 1998 ~ 04t Jan.,1999

(C) 30t April, 1977 - 215t June, 1977
(D) 13th March, 1967 - 26t April, 1967

o § offtm Uy s @ eEy ®ia
ofy? ﬂ

(A) 15 fader, 1992 - 03 fexder, 1993

(B) 1 fadaR, 1998 ~ 04 Gy, 1999

() 303MW®, 1977 - 215, 1977

(D) 139718, 1967 - 2631, 1967

- Choose the wrong pair (State - Number of

assembly members) from the following
options -

{A) Assam - 126 {B) Bihar - 243.
{C) Gujarat - 182 (D) Punjab - 150

freferae Rl # (o9 — e wewl
B HE) TG g gAY —

() e - 126 (B) fdER - 243

(C) 7RI - 182 (D) yGTrg - 150

- ldentify the incorrect pair of Panchayati Raj

institutions intermediary level and related
state -

() Kshetra Panchayat - Uttar Pradesh

(B) Panchayat Samiti - Madhya Pradesh

(€) Taluka Panchayat - Gujarat

(D) Mandal Panchayat - Karnataka

ATy ol GRemell & Hegad] wR U9 Hee
IS @ el g @ ygae -

() &3 A — SERER

(B) vargg afafy — weaucy

(C) aregepT TR — YOI

(D) ¥t vamE — FECH

68. In which year Rajasthan State Commission

for Women was established?
(A) 1996

(B} 1997

(€) 1998
(D) 1999

oy of ¥ VSR U9 6T SR @
YT g7

(#) 1996

(B) 1997

(€) 1998

{D} 1999

- In which of the zonal council Rajasthan is

included?

{(A) Northern region
(B} Eastern region
(C) Western region
(D} Southern region

frefoiaa & worems g e uRve ¥
afaer 87
(A) T &
(B) qdf e
(C) R &3
(D) =ferol &=

: Which among the following pair (Provision -

Article}) is incorrect in reference of
Panchayat Raj? ‘
“(A) Constitution of Finance Commission to
review financial position - 243 1
{B) Reservation of seats - 243 D
(C) Duration of Panchayats - 243 E
(D) Elections to the Panchayats - 243 A

TETTd WS @ wad # e W s (S

— 3TTE) Y e 87

(A) ffg Rafy & yafiees & fou ™
MTINT &7 T8 — 243 ¥

(B) eIt W7 TR — 2439

(C) vamrdl @1 sralSy — 243 ©

(D) demerel ® fow fafes — 2439

e B
106-C
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71.

72.

Who invented the High Level Language ‘C'7
(A) Dennis M. Ritchie

(B) Niklaus Wirth

(€) Seymour Papert

(I} Donald Knuth

'Y oge o s ‘O
of?

&) frw ﬁ%??
(B) Froserar Ry

(C) ¥mx 9ud

(D) SFTTEE T

Which of the following are true statements?

5T 3mfaseTe e fosen

I: Primary storage units have faster access
time and less storage capacity as compared
to secondary storage units,

1I: Primary storage units have sequential
access.

IHi: Secondary storage uniis are n@m»vdaﬁle

storage.

{A) 1and I only

(B) [ and 11l only

(C) 1l and 11l only

(D) All], Hand i

[

P H W e wE By 87

fn o

I fgciiaes dsmor gl o) ger # e

R FHIGAUT BT TR S99 a9 Tl
'z:rv:T*s:q HEET BH :ééé *@‘
11: urrites AeRvl gorsal Bie afdmy

(RrerifEraer goei) & 21

I s dsrT g9 W’éﬁ“&

P e
F—arereEd) T ?*3*"‘

(A B [ e 1l

(B) wge 1 g7 11
(©) Bgar I @l
(D) 1, 1T 1 et

= (A) Crtl + L

73. Which of the following is correct sequence in

context of ﬁxst to fifth generations of

mm“pui‘era .

(A} Vacuum tubes, Java, IBM-7030, VLSI, MSI

(B) Transistors, Assembly language, CRAY-2
IC, ULSI o

3{C) Machine language, Transistors, ULSI,

JAVA, IBM-701

2 (D) ENIAC, Transistors, CDC-6600, VLS,

PARAM

B e ?%’ e

2

~prged] o) v W gad Qg
d 9 W e ey 87

I (A) Jerge T, STaT, 1BM-7030, VLS, MSI

(B) giforeed, srawgelt o7, CRAY-2, IC, ULSH
oireesl  ULSL JAVA,

3 (€) 7RI wmr;
IBM-701
3{D) ENIAC, ;ﬁférv?@ CDC-6600, VLSI, 799

£

b

{ .

W Choose an invalid pair -

(A} C++, Microsoft

{B) €, AT & T’s Bell Laboratories

- {C) JAVA, IBM
; (D) LISP, MIT
!

: t:t%%«ﬁit?”ﬁ g T g B —

V(A) Cr, FTSERTHTTE
B) C,AT& T’; Eral “c‘m’é’?fa

a.%E .
z&“@‘fe open the existing presentation In

'»:a

vy MS-PowerPoint, which of the following

" shortcut key is used?
(B) Crrl+ N

€ Carl+ A D) Cert+ O

TG, iR g F e rRgdeRer @
& o, Frer 3 @ SRy wifdee mol g o
o w87 o

{A) Cril + L
€) Crl+ A

(B) Ctel + N
{0} Cerl+ O

Page 12 of 18

78,

77,

78.

Maximum characters in a cell, 3 worksheet
can contain are -

(A} 64 (B) 128
£} 256 0y 512

gpeie H e Au ¥ aftead e eveed

(&) 64 (8) 128
{C) 256 By 512

Consider the following screen paris of 70

MS Word 2019
Quick Access Tootbar

il: Document Tab

HI: File tab on the Ribbon

1V: Status bar

Which of the above offers the save, !

repeat options? -

A Tand 11

(©) 1,1 and I}

(B} Nand 1V
{0 Tand 111

"

THTY. g% 2019 % e ee-wed W e

Y
I e e TEEr
I e T
11 Res ov Ry we 29
V. &g IN

UNTT H § BF 9 9, 99
TUTE BT BY
(A 1 ey 11
€y 1, 1 Tl

(B) I qerriv
(D) Tugril

What is output of MS Excel function = LEFT%

("RAJASTHAN", 3) & MID (“GANGA”, 2, 2)?
(A) RAJAN

(B) RAJA

(C) RAJ & A

(D) RAJ & AN

THUHE. TR Bae = LEFT (“RAJASTHAN?,
3) & MID (“GANGA”, 2, 2) &7 Jfr9eye &1 27
(A} RAJAN '

(B} RAJA

(€Y RAJ & A

(B) RAJ & AN

s dep e ey

79,

80,

In context of network topology, match the
following - .
{a} Mesh 1}

1} Muitipoint connection
{b} Star (21 Bulk Wiring

ege e @ owed # e e e
e _

(a) #¥7 1) wediET Brae

(b) €R {2) go@ grafr

(¢} o7 {3) 8¢

& @-6LMm-@) -

(B (a) - (2), (B} - (1), {0 - (3)
©) @)~ (2), ()~ (3) (&)~ (1)

©) @- 1), ) -6)g-2).

The output guality of a printer is measured
by -
(A} Dot persq. inch

{B) Dot perinch

(C} Dots printed pe‘f unit time

{D} All of these

e fUex @) argeye qurd e Al SR
3

7

() e uf o g

(B) €t vy g%

(©) gfew <few ufy g wwd
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81. Choose the correct option that expresses the 87. Match Column [ with Column II to form
meaning of the underlined idiom - . _
They have been at daggers drawn for weeks correq: proverbs
over their distribution of ancestral property. Column-]
{A) to live calmly {a) Aleopard.. .
(B} to live separately (b} Every cloud........ erereresersennes
(C} not on talking terms (€) DOME CIVirrrrrrorereresemssmaerssrens
(B} be bitterly hostile towards each other (d) Jack of all trades........ S
82. After ten years war, China gave in. (Choose Columun-Ii
the correct meaning of the underlined I
phrasal verb) ‘ L5} I hasa silver lining
{A} refrained {B) started afresh £ 00 I can’t change its spots
(€} won (D) surrendered iii) master of none
83. Match the following - (iv) over spilt milk
g i ) -
() Conspreuous (A) (i), b-(0), ¢-(v), (i)
{b} Transparent (B} a-(i), b-(ii), c-(iii), d-(iv)
{si Obsolete (C) a-(iv), b-(iii), c-(ii), d-(i)
(D) a-(iii), b-(ii), c-(iv), d-(1)
{i} wpaque 88. Pick up an appropriate option from the given
(i) Clear alternatives to which this sentence can be a
{iii) Concealed
(iv) Contemporary response -
(&) a-(ii1), b-{i), c-(iv), d-(ii) “No, Thaven’t.” -
(B) a-(i), b-(ii), c-(iii), d-(iv) (A) Have you completed your homework?
(©) a-(1i), b-(1), e-(iv), d-(ii) (B) Did you complete your homework?
84 @} é”{w}” b-(iii), C_"(“)’ d-(1) . (€) Has you completed your homework?
- Fillin the blank with the correct preposition-- ,
He has been il ............. last three months. (B} Is your homework completed?
{A) for (B) since 89. Select from the given options the sentence
(€} by _ B from » which correctly transforms the following .
85. Fill in the blank space in the sentence given Direct speech sentence in reported speech.
below selecting appropriate set of words S a ]
from the following options - ~ Sentence: “Please, could you tell me the
............... by long queues and bad weather . answer?”, he said.
the voters ........... their way to polling (A) He asked me please could I tell him the
stations any way they could. answer
{A} Worried, Lost ) _
(B) Encouraged, Prepared (B) He said that please could I tell him the
(C) Satisfied, Turned answer.
(0} Undaunted, Made {C) He asked me to tell him the answer.
86. In active voice the sentence will be read as - (D) He requested if I could tell him the
“Many amusing stories are told about Mark
Twain.” : answer. . :
(A} People are telling many amusing stories 90. Choose the correct form of the verb/tense
about Mark Twain. from the given sets of options to ﬁi] in the
(B) People are being told many amusing blank space in the sentence -
stories about Mark Twain. W .
{€) People tell many amusing stories about When we got to the theatre the play ..........
Mark Twain. , already.... !
{9} Mark Twain tells many amusing stories (A) had been/ begun (B) was/began
to people. (C) had/begun (D) has/begin
4
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91. wree-ugpla @ gfe | ergHl dﬁmw
T ~
{A) T, AR — TG TS
(B) e, TRIE — o W

&) Hrerare®, SUIETaR ~ HaY U

(D) Sed, goar — e O

92. yeg 1 gfte 5 Frgaferd Rieq T 4
DI —
B g + € = W
B g + o = 7@
©) < + g = W
O) <o + orfrr = wFET
93. ¥ o | ART R Wl el § —
() meamRarfr & wge

(B gl uRRefagl uv wor g+

(©) sy o O BT

(D) Jro1—g=T 917y

84. forg fawed o we—yw8 @ AT—HT WEl FE

14
(&) IO~ — FEERI-SITd
(B) fasra—fasrar — oie—ady

(C) gog—TIR — Toe—ay

(D) Rav-Rfr — qrR-gET
‘95, ST T g AR -

(&) wrera, R, FEETET

(B) tefy, erar, GETEl

(© aift, arfe, aifees

(®) arfea, W CRIEl

b8,

89,

100.

IR W (Y T U B owEH W e

e girg —

(A) BTy ¥ O Aied w9 — UEEd

(®) S fardy o F fire T B — erea

(©) W Bl 7 B IR e weeT & —
; _

(D) W1 RReE A el oy § — RReE

- IATE IS SRE—gTe @1 gId BN

{AY 3oy — aray
5‘%} 3: 13 ?—«?{ — fczlla

(C) ST — syt

L) argyg - AF=ITg

frerferfRas veel W Jam oo —
(A) RfEel aereer
(B) omETTH, W@IRG®

(L) wERy, aransd

(D) SRR, Jais

oo e @ vTﬁm@@%
(A 4 B 3R C

B) A AR C

C) A &lw ¥

Sadud

(D) =Rt Rwen w2 2

e fwey ¥ Wi-Rege |l 780 go &7
(&) ST = ST + T

B wfEa = ) + B

(€} AR = TR + 3

O gral = g% + R

e Bl gl W e ey gsEie ~

(A) gerg@s) — O W TEd g9rel gl
{B) gerw — &9 ¥ o forwes

(€) Pty — g8 O O W ufew B Ty ey
(D) TR U — 9EER © g 93
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